Sensitivity analysis — Pain INF vs. INK excl. Graudins

Treatment Control Hedges's g Weight
Study N Mean SD N Mean SD with 95% CI (%)
10
Frey 42 244 16.367177 42 253 16.532502 -0.05[ -0.48, 0.37] 12.71
Quinn 1 30 14.709304 11 50 %57 —8—— -0.92[ -1.77, -0.07] 3.17
Reynolds 42 36 34 44 26 31 —J— 030[-0.12, 0.73] 12.86
Heterogeneity: T2 = 0.22, I? = 75.80%, H? = 4.13 o -0.13[ -0.75, 0.49]
Test of 6, = 6;: Q(2) = 6.57, p = 0.04
20
Quinn 11 43.63 20.63 11 57.27 29.36 —_— -0.52[ -1.34, 0.30] 3.41
Reynolds 39 44 36 44 35 29 —Jl— o0.27[-015 070] 12.41
Heterogeneity: T2 = 0.20, I> = 64.54%, H? = 2.82 ——l—  -0.04 [ -0.80, 0.72]
Test of 8, = 6: Q(1) =2.82, p=0.09
30
Frey 43 306 17.397286 42 31.9 17.524452 —— -0.07[ -0.50, 0.35] 12.86
Quinn 11 4455 20.18 10 59.09 27.73 —a— -0.58[ -1.42, 0.26] 3.23
Reynolds 40 46 34 40 39 29 —Jl— 022[-022, 065 12.05
Heterogeneity: T2 = 0.02, I? = 17.75%, H? = 1.22 R -0.02[ -0.34, 0.30]
Testof 8,=6: Q(2) =2.92, p=0.23
60
Frey 43 277 20.408355 42 29 20.334977 — -0.06[ -0.48, 0.36] 12.86
Quinn 11 49.09 2071 11 41.81 42.85 —®— 0.21[-0.60, 1.01] 351
Reynolds 37 42 32 35 44 28 t -0.07[ -0.52, 0.39] 10.92
Heterogeneity: T2 = 0.00, |2 = 0.00%, H? = 1.00 -0.03[ -0.32, 0.26]
Test of 6, = 6;: Q(2) = 0.38, p = 0.83
Heterogeneity: 12 = 0.00, |2 = 0.00%, H? = 1.00
Test of 8, = 6: Q(10) = 13.01, p = 0.22
Test of group differences: Q,(3) =0.10, p = 0.99
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Sensitivity analysis — Pain INK vs. INF incl. Graudins

Treatment Control Hedges's g Weight

Study N Mean SD N Mean SD with 95% Cl (%)
10
Frey 2019 42 244 16.367177 42 253 16.532502 -0.05[ -0.48, 0.37] 9.74
Graudins 2015 36 30 19.259259 35 30 18.518519 0.00[ -0.46, 0.46] 8.26
Quinn 2021 11 30 14.709304 11 50 257 —8&— -0.92[ -1.77, -0.07] 2.43
Reynolds 2017 42 36 34 44 26 31 —J— o030[-0.12, 0.73] 9.85
Heterogeneity: T2 = 0.06, 2 = 50.39%, H? = 2.02 Eago -0.05[ -0.40, 0.31]
Test of 6,= 6, Q(3) =6.57, p = 0.09
20
Quinn 2021 11  43.63 20.63 11 57.27 29.36 —— -0.52[ -1.34, 0.30] 2.61
Reynolds 2017 39 44 36 44 35 29 —— 0.27[ -0.15, 0.70] 9.50
Heterogeneity: T2 = 0.20, I? = 64.54%, H2 = 2.82 —~—l—  .0.04[ -0.80, 0.72]
Testof 6, = 6: Q(1) =2.82, p =0.09
30
Frey 2019 43 30.6 17.397286 42 31.9 17.524452 —.— -0.07[ -0.50, 0.35] 9.85
Graudins 2015 34 45  29.62963 34 40 18.518518 —il— 0.20[ -0.27, 0.67] 7.88
Quinn 2021 11 4455 20.18 10 59.09 27.73 —— -0.58[ -1.42, 0.26] 2.48
Reynolds 2017 40 46 34 40 39 29 —-.— 0.22[ -0.22, 0.65] 9.23
Heterogeneity: 12 = 0.00, I? = 0.00%, H? = 1.00 <P 0.05[ -0.19, 0.29]
Test of 8, = 6: Q(3) = 3.46, p = 0.33
60
Frey 2019 43 27.7 20.408355 42 29 20.334977 i -0.06[ -0.48, 0.36] 9.85
Graudins 2015 31 50 22.962963 31 50 29.62963 0.00[ -0.49, 0.49] 7.24
Quinn 2021 11 49.09 20.71 11 41.81 42.85 —#@—— 0.21[ -0.60, 1.01] 2.69
Reynolds 2017 37 42 32 35 44 28 -0.07[ -0.52, 0.39] 8.37
Heterogeneity: T2 = 0.00, I = 0.00%, H? = 1.00 t -0.02[ -0.27, 0.23]
Test of 8, = 6: Q(3) =0.39, p = 0.94
Heterogeneity: 12 = 0.00, I? = 0.00%, H? = 1.00
Test of 6, = 6;: Q(13) = 13.60, p = 0.40
Test of group differences: Q,(3) = 0.26, p = 0.97
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